Al Moattassem International School - Jubail
Revision 3 - chapter 12 - Volume & Surface Area

Part 1

Fill in the Blanks:

1.Volume of Prism = base area x height

2. Volume of Pyramid = 1/3 x Volume of corresponding prism

3. Total Surface Area of Pyramid = total area of all faces

4. Volume of Sphere = 2/3 x volume of cylinder

Part 2

Solve the Following:

1. A Pyramid has a square base of length 12 m. Given that the slant height of
the Pyramid is 15m, and draw its net hence find its total surface area.

Given: Square base of length=12 m
Square base area =12 x 12 = 144m?

Slant height (I) =15 m
To find:
i) Draw its net
ii)  Find its total surface area



Solution:

]
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12m

Area of each tmangular face = % ® 12 %15

=90 m’
Area of square base = 12 x 12
=144 m’
. Total surface area of pyramid
= 4 x area of each mangular face + area of square base
=4x90+ 144
=504 m*



2) OABC is a triangular pyramid with a base area of 15 cm? and a height of 4
cm. Find the volume of the triangular pyramid.

Given: base area = 15 cm?
Height =4 cm
To Find: Volume of the triangular pyramid =?

Solution:

Volume of trniangular pyranud = % x base area x height

3.A Cone has a circular base of radius 8 cm and a height of 17 cm. Find the
volume of the cone.

Given: Radius (r)=8cm
Height (h) =17 cm

To find: Volume of the cone =?



Solution:

Volume of cone = % wh
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= 1140 cm”

4.A Cone has a circular base of radius 9 cm and a slant height of 5 cm. Find the
total Surface Area of the Cone. (Take [T = 3.142)

Given: radius (r) =9 cm

Slant height (I) =5 cm

To Find: Total Surface Area of the Cone =?

Solution:

Total surface area of cone =l + 1
=tx9Ix5+n+9
=4im+8In
= 126m
=396 emy’



5. Find the volume of each of the Sphere with the radius of 8 cm.

Given: Radius =8 cm

To find: Volume of the Sphere =?

Solution:
Volume of sphere = % wr
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= 2146 cm?

6. Find the surface area of the Sphere with the radius of 12 cm.
Given: Radius(r)=12 cm

To Find: Surface Area of the Sphere = ?

Solution:



Surface area of sphere = 4w~
=4xnx12°
=576n
= 1810 em’

7. Find the Total Surface Area of a hemisphere of radius 7cm
(Take TT = 3.142)

Given: Radius = 7cm

To Find: Total Surface Area of a Hemisphere = ?

Solution:

Total surface area of hemisphere = w + % x 47
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= 147w

= 147 x 3.142
=462 cm’



8. A Solid consists of a cone and a hemisphere which share a common base.
The Solid has a height of 50cm and the hemisphere has a diameter of 30cm.

Find

i) The volume
ii)  Total Surface Area of the Solid.

50cm

30cm

N

Given: Height =50 cm

Diameter =30 cm
To Find:

i) The Volume
ii) Total Surface Area of the Solid

Solution:



(1)

(ii)

Radius of hemisphere =30 = 2
=15cm
Height of cone =50 - 15
=35cm
Volume of solid = volume of cone + volume of hemisphere

=1 ax15x35+ L x L xnx15°
3 27 3
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= 2625m + 2250n
=4875n
=15321 cm3

Using Pythagoras™ Theorem,

Slant height of cone = 15° +35°

=3808 cm

Total surface area of solid
= curved surface area of cone

+ curved surface area of hemisphere
=ntx15x3808+2xmx15
=5712n +450n
=10212n
=3210 em’



